Find the general solution of y™ —23" + y =3¢, SCORE: /14 PTS
@ ke Tl ()
-\ )=0
([ U120,
el )
Y= Al +Bre e Cel s Dre
e/
@i L(jlp = KX‘"&" ‘
L= (Kot 20 €,

L (ot Hr i 2EDET

“; = e W (A ZDX00

D - (K §Hox 1250 €,

Ys
®_ 9 u = (Uir Sl 2K
jfj j‘p j —Y - JUx —HK

HYs) e
5B -3¢
Rl
e
(s
Y = dcesp A Bere Co7r Dae”




1
SCORE: /10 PTS

Find the general solution of y" +4)'+4y = W .
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Use the annihilator method to find the form of a particular solution of "' =10y’ +29y = (1+¢**)sin2x. SCORE: /6 PTS
You MUST show the usage of the annilator. Do NOT solve for the coefficients in the particular solution.
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